isipaper.org

411

:ga,&u—ii
tebawl Joee

A B P R B P B P B B P B AP B P P PO R B P
:::r?: v N ;Tjhmﬂu.:,& ksl ol8iils ST

Al oYl 5 st

Sl 5 Slads ke Sl

3905 iyl e Sl

S99 0903l

18 (35 yoinden) 5559 slao 59

! IT4F Jlo

(it m (i (oiilo 3T 09 F Flniol sladi y 4ls

...........................................................................................................................................

anlg.w njln..it g s ;u.;bﬂﬂ ..‘aT}u QT,.L:

s g | 0yl U | oyl 3| Jlgun Slaas ool 8lga iy,

) we |9 Y. (sheans Slasial | )
) e | M Y. 0908 — oSl L3 | Y

918 (e & pod 305!

il g lone il (yadilo 31 0Ll

[ WAL b — oot ]

g o gLy Ol e il il by g il o Tl e il col dama b Wi Bads g i ol aled ol el )01 11 e (e g i 01D gy o g g il g 25 sl i

R R R R R R R R R R R R R R IR R R IRERE IR

R REIR& R R R R IR R R R R R IR R R R R R R

B S B S S o S o o o S S o S o o S o S



https://isipaper.org



https://isipaper.org

isipaper.org

411 A

@ Jg!

2045 1y ola Now Fewls g dilades cdsa ) aoge j1 U5 o cawl ol 152e jabas e g o it (ol o
Caodle dolidewly 5o g 9l oy (8,5 blisul b zluswl (e 3l olgf o dzil & angi b ccawl sl o 3

o

¥ an


https://isipaper.org

isipaper.org

OROROONOEO

JUSm 29l JLad (49 )9 LT 29l ot
A (o0 538 Callad 2l Glo 3l ouiglu Jlad
[F] -39 sl (999 29,5 b
ouos JlS 90 (g omas rase
9 Gl il 4S aipd oo plaxil
ol 3l el @l (ol L SlgS s
(it a5y S Yl (39 il
Gl yo plSipan Wil a5l 45 glaigS

()

=95 310 P 599)8 Y lawgi SU =T oy (Fo)

o Slg1y8 a5 el Ful pleiea |) wallao
syl 9 Sy 9 (6999 S iy Wl 2
=39 S e (295 Fh S
9 ol wiolyd g0 el ASLLL s i

==y | 510 T0uS0  JoSo  dlesl b (fa)

ol =2y =29y b Wb aSd Sy gl
T 39294 Uas 2ol b 9 dun Lo

JEle g o S A Byee plas -)e)

fapd 0 £JL$J1J e

5 oxd 085l oy S g1y e ()
U 1“}? S Ae) ey e
odady ol 4 bgpe slog ez
) 8 pals E.:..ﬂ}:

sul g ol els slossy 3585 (V
vl e duh ..,.n..;...aﬁi' UJ L5|;::-|

sladie) 4 g (Jpne L‘-?Jﬂjﬂ"; = (7
slatlle 5 098 bl g ol 518
W aJLiﬂ LJ_I $9, L_.,L_.._.J_‘l

l_,,_.:.:.:Ja L‘_-,Lf_ﬂ -..S..} j' LsE g \JI..L: I:'f

j‘ ot L 32 ﬁﬂ._.‘l.n 3 l._n.:_.-ﬂg.: e

el 80 08,51 ] 09 g0 0,15

4 3lg 3 (Fgam (oras sloAS T
LRl 00,5 ooy (P ) (omas gloasd
pladl i) slocuas Juo jI e ghian guac
St = 13 1 5yl g ailou—d a3 F
Ol (g (b5 gl b I i § slrnas
sty @ pdols bl g (Jlmlno glausly
)30yl 5o Jle 53 mas (glaaSiul il 0
Flnms 0 s’ 30 3 ailai 5 1) (9oL axgi
gt wylzd o Sy ador jl g0l
(8 =t i CamiBno S 1 g ool (a0
akuly alilyl | omas glpaSid ilaills
Yl glp 1y ol 9 oduagd 1) oud s e OleMbl
ot (3,105 892 Ll ol p JleMbl aF) 2o
&l dilgl o Al S0 Dyl A
Slp 295 on s |) Wil 3550 &5 o lagoe)s
['*] 3o iy 1 (3 L
§ S Lt piils Al lb 6399
ety 4 ol (59,90 3 2 29,5
s Lagssys [T] g J S b (e
bty ot 4 Lpo ) 3 yb jl Lo 295
o5 I Canl (Kas 35lg0 (B 3 50 Wigdh oo
169929 (glpe I 39— ooliiwl i Ly
gy fadis pb & (Guwl ks 9 (235
s glaailoluw csls jl ooliiul gl p
Sgub o0 odliiwl (£ otuan gLy 90 5l o
(5999 ;=P 90,5 Ll y3 1) (5999 (goluai 45
slope S i pb @ daaly S G2 yb 51y
alie dagy9 ool [ Y] aimo o bLi )l 100
R it b SR 9599 30 (gl FI
29 (5999 ol aliwl Hladie Sy gyls (9,9
=5 o1 ) bl jludio 5 s L i 139

fm

S

(o)

hed

(o)

(V=)

(Yd)


https://isipaper.org

isipaper.org

OROROONOEO

& g2ty e b i Jlainl & pilo ia -)eF

fauly oo aclol i o slralgio 3l Suplas

2B end 35855 i axly i Sledll ()
Cons 3,90 GBSt 40 L

g S lo glp o) ele glaaie dn (F
Epea mas clraSid oy

mas glaasll Koo sdes glao S5 (Y
s gl J5usS &)50 50 soga

)0 (Fyan geas glaaSl 5y 15 sgm (F
g oole gloase 1 ghogld Ll

W9 gy A Ao A

=1 as G ,F Az yled oo e bl p

G g0l g5 il 4 Sy 050 olBlwe

. JJJII ;MJ—?

Dgu 033 yu= g suslale 2l ()

By oy 4 owlie (6399 iy (T
l..__..q.n.u1 d.’.‘l)ﬂ

Al b )9S de (s peen b Wlgi e (U
Sl Cowd Sy

=l gl F ol cledas sl aY (F
&S o ligs wadais | olRiisa

slroylods b as ke 50 p) (sldJome 3l Suplas
it i loss e [¥]y [¥]i[Y] )]
Foubly oo ) aloor (3010 51,8 gl Joxo

I) Eghams cuae S (g5 pilie ali (pb
€T 20 dgure b 00 pid udile polie

_‘\_ ()
v] o
¥] o
¥] (f

ﬁm

-1+Y

ey


https://isipaper.org

isipaper.org

OROROONOEO

d -}H '.-#.l . & -la r: -.,_ + u j' M‘ :l;h. )Ll_..l

o s 199 15 8 555 Wil
olaS o e ol OT Qg pladl syl g uijle
Gyl g ol S ud_..i.:lj 3 d—ul,d
s (3] 2330 (Lslg wiile a0 ilbold )|
O i o 5Tl dnmwige OliERS  wlwl
adliiul Siefe ol diuo 33« i i (gle»
ol 2= 930! 31T (98 S 1y (6551 5l poye
= loliinws (0 )8 §,Lh aF Cawl oul
il 8 (Soe 1y 330 3 2 Wi Jlail ooy
U gt 3 (5leP S s polais| ollinlejl 5o
Gyl S win JeSlgs B glrelicins
J e 45 5y sl jl 4 1) 095
By i gt R oS 4y Lo jome
b (Hilg0 b s ot @30 5591 oy sl

@323 Elgal (B 20 50 (855 )18 Cowgyag)
asﬂl......! L.'hl).'n.i- u.,.!jl.-‘-.'-n'-.n Gu.:bl.-i.n ﬁLhﬁl..‘L_._.n [
o clod Joboww s 1y Lo yS Lodl 51,0 00 1) 995
s ilaj o3t S 59 tgF o i JLusy
Ol 45 Uiz il | S 4
Iy Lo € G o (glg? 8 i Dladei &5 | = lg0l

¥+

(va)

(LE

(fa)

s a3 ol s 5155 W ylailiul @-)

.@_hgmmq

8 3T 0 15 @500 s (ygy JUl adia !
Lo gliuwd 51 (K4 0,5 7 phae (5900 ety
4 09 (Bt £l oS lw a0l )3 9
N glp)l5 0,5 o0 (SLSN;95 o (3902
sg—sil ddgi g 21yl ey p0 Lol dly JulSS
ddail 14F 0 any yo Cdld Jlade | s
o Flo) s Ty o3 5l G 2 oot JUESI
631 A el 50 uled 4 Kze5 3 SISy
ol 4 e 3145 5929950k glgel 31 1) 295
05 (o0 Bl 50 0l o0 ol

LA a5l (B Syl gla il
sl § =t 59y JUH! (sl (ol lio
31yl mablmie g Wl il ol )0 AR5 0
£90 g Sm a1 G 2 5551 gobs B sk
oot aisle flug.aiS o0 Jia JSaes
Slyd 325l € G 5 lgp I 3 (sgm
w10 pl sudguiigaui  |uliie aduly oS
Jie |y @ g 9lgi |y (oublido gla gl
ol j1 4 il Lo il il 9 3w oo
ablu g yile JS0 4 glaz )L (golades
Wbly o (Ao g ko Capdad (g1l g oulds
§ &= e 3 C3b50 ) 299,500 Zlgel
§ il 1 o (L s oS ) g 813
ShpolBiund i 3)lg ogso 5l layg sl
g0 (o

Ololdls 51 g )T i (oS U39, 0

F'dq.?ﬁl.-p

(&)

()

(Va)

L

(Y&


https://isipaper.org

isipaper.org

OROROONOEO

39 0yt § Vil b b 3 Sy plis —YeV

did y LS e yo 092 g0 Wledbl LS L
§ il

e sle s ;5 eolaul ()

odudy Sy clee g Llpe dslie (Y

il S5 0 0g2ge Jolye hog (T

Oley ymms ) 0didy o (9SS 12,5 Jlis (F

St g DS A g w0 il A 0 j90 plaS
Lo |y (i 53 Camy 3380 £9ud90 A Canand
VL

silase Caallza ()

B 3 5 g S0 (Y

Albbima (g g (F

E—n.!é]s 1&.1\.{- g @!;Jh%i {f

Xk

Egoze wilgi o yidoy Jladol 4 090 plas 140

fadl oo 5l g SISLL

G JU gjeleiSS o5 ailge 5 SMane ()
9 3lon olpen 4 o 2 B3, b

O Al s (Sepsdl glaca i, (V
e 358 hlgl g @3 gl

PGBy JE el a2l (S Lo (F
e 9 o Jlal

Ep JUl ey )0 &5 el 8l ola 36 (F
Al plondl s o

p9d SIS, bl )l g (p yige 45 0390 plaS —)eF
oy gl G151, |

i

DI

TS oo

s P9 b B sl @lp aae ol ()
245 SIS 5T a5 095 o chnags
D3l oo aluzrp |, ol sl Jgl LS

5 sl Gl iils (g5 A sla Sz (F
Dgus oo aaly ﬁ.a..::y ._,LLJH:«I T

S S QL L ) 25l (F
Jol SLFLL 5 a5 glools aiz o Silel i3
s oo iy Conl sad 03 ob

S g8 B o 3 ySdas (SigSa (F
AL 3351 § (i ol atigns 45
LI /S

Jal i bb

\lrw


https://isipaper.org

isipaper.org

411 A

:dlﬂ‘ 3

§ 00 Slasitad (4T olbhunslis Jolid (56 MR ciliks Elgil 51 cSliniiunt cyaail 31  saadi

el 0y S g AWlins Jo o Sldls

ool 2 1) Jlgas 32 coig0il 51 it (ol o lgw 4 (09 Waliio ybloay uudl aills angi @
a2 Feuly ol sdnl Jlguw axws  glaul 4o aF glofg Joalljaiws


https://isipaper.org

isipaper.org

30 el jlasl g0 ol 5l g alde 5 90 -1

S s Ol Elygu S5 Ll I plas ya s
Wb o R0 g aiclwdw Wds (HJE K 51

3| Floj az jl am sl adad acluay
- 1 g iy ai i

29 29250 | fooe v LLss e £ 00
LI 51 T z9,5) fagu oo andid’ (IS 9
(o] S 18y 0 )lg0n

yvaya' @

y:ivo

yive (v

Viva' of

S8 b sue plal . Jlgw Cede slods ol

€3 i
| > ¥
Y [ ] » YT O
VF (Y
5 »\Y VA (T
Yy (f
& [l1 >y
¥ > ?

scobus @ 5 poed 0 plo jlz ) S5
LT 31 plas 2 a5 aBd o Hlid 1y # g F Y
QTJ!M,M'GEMMPQ
o ‘.5J51= 1J Ji._llu.'l ‘shﬁh l....u.u‘ PR Lii_;.
b s opls )6 5 Jolb p9 oud5,)
dos ;nﬁla a.}_i E_l.l..f.r ..11:5..:: J.ﬂ_f Jf.!d.':.l

§ sl a:a_]..‘a u-’)-'-g’,‘.'j: &L!-:J J‘?f.ﬁ

1.


https://isipaper.org

isipaper.org

OROROLOROEO

Jlas! A aliyl 5l cgb @ plode pdy 4w - WY ojlail & Jeamo S5 5l das Yo a5 cwd -NIY

S pofols jl (S b8 a5 giebdy ol Sl Jpaze plod jl dae M (9,5 Cunsd
abe Gy bols il 0 0,8 ca g be ab Sy gy o yd TO Sgw b Jpamo il
xed g b g a (Sl g eg F e il plasm .l
3lusi ds ol s gdds (€ g b @ WSl TY ()
A5 byl 58 Ll plBl a8 44l ood jdus Sus fo (Y
FuS oo oo o LA Lk
Y () Y7 (f

YA (Y

Y& (¥

£y (f


https://isipaper.org

isipaper.org

OROBOLUOROEO

g €D (a3 K it ConS b sladis g3 Jol N1 9 WE slalaws i plaS b : alein, |
Tameo enily «Jorll ) ghand s 42 97 b g Ul danlie ;0050 b1 (g 99 polie Kb (9iw 53 (5,508
S i 5 7 4

ot iy Caode 1y ) s 35 dolianls 30 ol 515 53 <l g jlado 51 @

o i Caodle 13 ¥ Ay 3F doliwl 3o cCawl J5 5 «0P yaiw lude ST @

e 0 Zaedle 1 ¥ als 3F dolicmwl 0 woiiiud iy o L@ g €Al fodw 90 woldc 51 @

Ot € g €Ll (ygiaw g0 wolie (pw |y gladuly e o Jlaws 3o oud ool wiledlbl bl y 51 @
i 3 Cedle 15 F 4y 35 dolsewly jo w30

Sy (ol polacl 45) zg5 M aSl 5 any N8 baess Sols dpglIails Eulia 93 4 p15 JSiys V¥

Yo olpl B woyd wids (o0 &5 5 1) (lotus &b Job 45 £V ggluio Cdio SU (49,0

(gl 30 ol olas o Slaxi g Gy RO PRV JPRCI [P PP FN |
b o als a0 1T 0

o wall
Iyl B ey sloa B oo o oluas &0
o) Lz Sy )

- wall
bl Coluw P R
08,95 ygle 83 )55 gl

P9d v bl

\\wﬂa


https://isipaper.org

isipaper.org

411 A

Pow e

:dhﬂ‘ 3

T Gy 9 dudlgdy Cdod |y B Jlgus 0 105 o 5158 i 390 Lol (ki o Ulgd (i ol 5o
e aodle aolizeuly g0l


https://isipaper.org

isipaper.org

ONORONOROE O

o Fewl WA U ol g d o j SleMbl & dgi b 1 o local

S0 3a) abef slags e J3Is olusl )51
il 0y asr (Cwl A Goue aS
Tl plas « plgs Jolo slos! aos fol>
VF7 ()

VEO (Y

v

A (f

o 6 la 218 due wilides Sl Wi o
fadl wilgd 2010 oz

Y

V(Y

T (Y

Y(f

aliZe sde Wi wewly Cwww opls o
€3 58 51,8 ilgd oo

O

Y (Y

Y (Y

\ (F

W g g R Ao A

MWW e g 99 9 Gl 9 Wb Jla g0 Ll ap ) JS8

29 b (gy9b 515 oo A UY sluel . Cunl Sl 9

Mael oz fuols 45 i 18 Wk el po 510

cwly 5 o Glreply 2l dus plp syl

dapgiw olasl oy lol> g sl lod 4 by

alod 4 baipo (puly 3 Y glropls Jo1s sus ply

Cawd j0 wgead ol g0 ) oledbl 0gd gk

]

Dylad 510 Cewly G ygiw jo Y 20 @

g8 sl cp YL 0 slaSaa B g ¥ oolael @
REJ I

dgla glyd O pllo P S g0 F g ) oluc! e

ol ol gole o)lged AF Sl Sus joa @

210 4148 aligf cloas e 3l SS9 S0 j0 ) sus

&

-A

S5 ¥ 0e YU w30 Jawg aage J518 )51 118

0310 (9 iyl 4 gy dus bl 4 S
¢l plas

o i

A (Y

a7 (Y

YEF (F

-4


https://isipaper.org

isipaper.org

plas Wil glogi 5lim Yo (Ol Lad il ,51 -\YY
Lug;J .a‘_,.a.ﬂ! U.EJJ Qa.d A 30 dj50
$iawl T
el 0als Csla 52l (Y
el lagi jlim Yo dJ...a as (Y
el logi Jlim 0 oF gl (F

i G oy Sl aagb 5l U A 1 VYT
3 0! dhee w Aad gyl A W il
e alad jebay plicsloy ogxi o
¢l oo
¥ ()
Y (Y
D (Y
) (f

G 9 3 ol AL wlpen A OF o mh
Yo g Yold Vo b dlwjl (S & 50,8 Jyw

u.d;.a.u? l.'r 1_; uﬂd 53 | JIJ'B' 51 ] uLn;.'l

A

Gk 3l 1y (A8 S0 g 310 893 Gk 3l 1) (el 9o
2 opy oledMbl WS ey S6b 4 axslwe

| S L th_ﬁ:.d ‘_-,Jl Lfﬁ"“"’

e sy dud 90 g Elo

d dxzlpo b aS oand g Cul il ad ale
Sl i Glie Yo el 0 Lslo p SOL
.JJJIJ

whilond Clop el & ole el
iled g ;..:'1- d bayo plaSmn

oty il & loy Sl Yo
| 0093 p2li 43 bgs o & g 00

Ot el logs’ I8 10 45 Gp aed Ao
Mopogs @iyb &5 ol (pad g0 @l

Sagi b Yo all Gl A deo 1 Y-

o9l Al olpon (ali And o I ydew
&b jebar iy s Al I Suplas Caloy
] Lasuic

ol il Gl ST (O

ol oo 85 (50 o0 (¥

ol o2 Al wooli Al 3 (F

b Al e (F

>l g o poes lwe a5 B Al S
390 plaS Wbl Ao (p eSO o0

§ anl il
S0y SOb 4 dnzlie iyl 5ol A ()

&

e
.JE*':'.*qu
by bW asle Lo gp a8 (F
) 19940
Y

Pow wiu LL

-


https://isipaper.org

isipaper.org

411 A

Pyl

:dhﬂ‘ 3

GAYE gl lgm I Sy 52 09dg0 ol 1) (comui £33 51 (2l lgus Slanisl (y9a5T 51 Gy (!
e o dolisewl jo 1y pusee Olga g 00g0d  owy e B0 1y 1Y

"Ilﬁd«.?r.l:-'..-a


https://isipaper.org

isipaper.org

?
V) Y) ) )
\Yo-
1 2 3 1 2 6 3]
5 4 1 4 ?
8 71819 7 9 1 7 8
V) ) ) )
1 G G 3 1 3 1 3 6 1
5 &
8 7 4
\YH- S
/©l ) \ L /’f@ D f@" @\ /Bl' \ﬂ 2
O60 *\%@" 02\ 8ed
e’
;@@)\ g@@ ,@© >
- YA (&0
058 8,0 o8 06D
\YY-
?

.%sﬁmmd.g



https://isipaper.org

isipaper.org

ONOROLOROL O

sala uu-ﬂ ad; J.l)j UT _,l.;‘:" J= a5 éldu.l-I GT_.-,.QJI' 4 §§J| h.'g.!_ s> o 3 ATA J‘}w = IG_.‘I‘LH:I#EJ
odud F U Y 0lge il STplal (puds o5 o501 & sl 39 (A2l dxio p Sgae) gpa;y 3l ST .Cowl oulds

) " Y) f)

@ |[]|O
o|D>|@
@ |>|O

VY amio


https://isipaper.org

isipaper.org

We- , Y "
D) A )
B |
\ X —L r

1'”"-. FERT


https://isipaper.org

isipaper.org

o

:ﬁm‘ 3

oW | SOFEE — E-u..-‘.lf.“ LJ'I"'J' L}}"JT Y lgus ds ba o tui‘.._'su |.'.ﬁ.1

Part A. Grammar
Directions: Select the answer choice (1), (2), (3), or (4) that could best complete the
blank in the following questions. Then mark your answer on your answer sheet.

131- Women are thought to .................... no official role in Roman army activities.

134-

1) having had 2) have
3) have had 4) be having

We have to make sure .................... that we think is right.
1) a way that will machines behave

2) that machines will behave in a way

3) for the machines a way to behave

4) to behave in a way that machines are

Defaunation has caused numerous geographic range constrictions in marine animal

SPCCIERIER. .. covoscnnusanans them locally extinct in many habitats.
1) and has driven 2) that are driven by
3) which it drives 4) driving

Vaccinated mice were then challenged with LCMYV Clone-13 (Cl-13), which causes a
systemic infection ................
1) that lasts for 60 to 90 days
2) of 60 to 90 days to last

3) lasts between 60 and 90 days

4) between 60 to 90 days of lasting

aaEE ®

For the first time, it is possible to distinguish between brain activity associated with
pain from a physical cause, such as an injury, and ...............esr.e With pain linked
to your state of mind.

1) the association 2) 1s assoclated

3) that associated 4) that of association is

VA amio GO ON TO THE NEXT PAGE
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The visual treatment was as much influenced by stylistic ideas of what was visually

appropriate for a modern architecture .................... technical factors connected
with the structure.
1) as it was by 2)to be in 3) being 4) was

cressessee that can take the place of monatomic anions.
1) Ihal; many pc:-iyammlc anions

2) Polyatomic anions are S0 many

3) As many as polyatomic anions

4) There are many polyatomic anions

.«... in our first meeting that I never ever again went for a second visit.
1) I found him contentious

2) So contentious [ found him

3) Contentious as I found him

4) More contentious [ found him

Part B. Vocabulary

Directions: Select the answer choice (1), (2), (3), or (4) that could best complete the
bhlank in the following auestions. Then mark vour answer on vour answer sheet.

140-

141-

142-

143-

Since there is a huge ............c..c.... between the results of the first and second
experiment, the laboratory team will conduct a third test.

1) moderation 2) controversy

3) discrepancy 4) corruption

The BEER.:.evieisisiv atmosphere in the room was negatively affected by an
unexplained outburst of anger by one of those present, and presumably directed
against the vice president of the company.

1) cordial 2) susceptible

3) quaint 4) tedious

If you damage vour refrigerator while trying to fix it, you could possibly
cesenssssaenss YOUr warranty and find yourself responsible for all the repair costs.

1) elude 2) nullify

3) manipulate 4) postpone

A true scientist is not expected to let his .................... compromise his scientific work.
1) recognitions 2) argumentations

3) initiations 4) preconceptions

The attnrm:}f lost his license to practice when it was discovered he often took steps to

csssssssnssesnss CVidence to keep his clients out of jail.
1) f‘ibI‘lGaIE 2) substantiate
3) purify 4) intimidate

R GO ON TO THE NEXT PAGE
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146-

147-

148-

149-

150-
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If there was an award for being .........cocevvveeeey, my aunt would win because she is
always complaining about something.

1) benevolent 2) reticent

3) fanatical 4) querulous

Because education is not .....ccooevvvviiinnn in all countries, there are many children
who do not attend school.

1) autonomous 2) flexible

3) compulsory 4) authentic

Given such animals' rapid .................... in numbers, she did not actually think she
would ever get a chance to see one in the wild.

1) execution 2) domination

3) depletion 4) alienation

He .....cooennevvnnnnn her blank stare as boredom and stopped telling her about his new
job.

1) construed 2) detested

3) scrutinized 4) regretted

TH. . - - SRR value of a college degree is worth more than the financial cost of
obtaining a higher education.

1) arbitrary 2) intrinsic

3) complementary 4) innovative

Interrogators were reportedly frustrated by their inability to ..........cccvvven useful
information from him.

1) elicit 2) augment

3) extend 4) speculate

He has got such a .............csve. memory that even now, at the age of seventy, he can
recall the formulae he had studied in his school days.

1) vigilant 2) defi

3) prodigious 4) feasible

Part C. Reading Comprehension
Directions: Read the following two passages and select the best choice (1), (2), (3), or (4)

that best answers each question. Then mark your answer on your answer sheet.

Passage 1:

These days the popular mantras for stimulating creativity frequently extol the virtues of
thinking outside the box: “There are no wrong answers.” “Consider all options.” “Break

the

boundaries that prevent you from innovating.” But not all boundaries should be

broken. Some are real and need to be respected. Sometimes it is best to know how to think
creatively inside the box.

VY axis GO ONTO THE NEXT PAGE
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If you identify constraints that any solution to a specific problem must obey, you can
channel vour search into more productive directions. Eventually you must always figure
out which of your possible solutions are workable and which are not. By imposing
constraints on your solution search—in effect, understanding what box they will ultimately
have to fit into—you can filter out unworkable ideas before they take shape and see the real
solutions more easily.

Becoming aware of the relevant constraints can be powerfully liberating. Filtering out
your thoughts this way may at first seem as though it would censor potentially good ideas.
But, on the contrary, identifying the underlying attributes of real solutions can actually
help generate ideas.

When you are faced with a difficult problem, it’s all too easy to get caught up in what
you don’t know. So instead begin by figuring out what you do know about the solution,
even if it is incomplete. Identify all the attributes that will be a necessary part of any
workable solution. These necessary attributes are the principles (mathematicians call them
axioms) that will serve as problem-solving catalysts. A great advantage of this principle-
centered approach is that it helps to focus your search by preventing you from having to
start from scratch every time you run into a roadblock.

151- What is the best title for the passage?
1) How to Be Creative
2) Principled Problem Solving
3) Virtues of Brainstorming
4) Thinking Outside the Box: Pros and Cons

152- Which of the following best describes the author's attitude towards the quoted
statements in paragraph 17

1) Pointed opposition 2) Reproachful and disturbed
3) Skeptical but resigned 4) Partial endorsement

153- The author implies that if you try to solve problems on the basis of the axiom
according to which all boundaries that prevent vou from innovating are to be broken,
you would then ..............c0nee
1) come up with a number of wnrkable and unworkable plans between which you
cannot make a distinction

2) never be able to extricate yourself from popular, non-academic approaches to
problem solving

3) beat more about the bush due to not having channeled your search already

4) find yourself imprisoned within a hyvpothetical box of limited viable options

154- Which of the following statements is the author more likely to agree with?

1) Letting constraints filter and guide vour thinking can often be the best way to
reach truly creative solutions.

2) Becoming aware of the relevant constraints may adversely affect the generation
of certain pragmatic solutions.

3) When faced with a difficult problem, getting caught up in a web of relevant and
irrelevant constraints is inevitable.

4) When solving problems. make no use of that part of your background knowledge
that is part of folk culture.
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155- According to the passage, the "necessary attributes" mentioned in paragraph 4
1) can be the end result of work in mathematics
2) may at times prove to be too difficult to identify in the first place
3) can help accelerate the search for the right solution to a problem
4) are organic to the integrity of not only mathematics but also chemistry

Passage 2:

The world’s honeybees appear to be dying off in horrifying numbers, and now consensus is
starting to emerge on the reason why: it seems there is no one cause. Infections, lack of food,
pesticides and breeding—none catastrophic on their own-are having a synergistic effect,
pushing bee survival fo a lethal tipping point. A somewhat anti-climactic conclusion it may
be, but appreciating this complexity—and realizing there will be no magic bullet-may be the
key to saving the insects.

A third of our food relies on bees for pollination. Both the US and UK report losing a
third of their bees last year. Other European countries have seen major die-offs too: Italy,
for example, said it lost nearly half its bees last year. The deaths are now spreading to Asia,
with reports in India and suspected cases in China.

But while individual “sub-lethal stresses” such as infections are implicated, we know little
about how they add together. The situation should become clearer in the next few years as
the US government, the EU and others are pouring money into bee research. The UK, for
example, has doubled its annual research budget, allocating £400,000 a year for the next five
years,

On top of that, the UK National Bee Unit will get £2.3 million to map the problem. This
money is urgently needed, says Peter Neumann of the Swiss Bee Research Centre in Berne,
who runs COLLOSS, a network of researchers studying colony loss in 36 countries. “We
don’t have the data to assess the situation in Europe, never mind the world,” he says.

The main stress facing bees is the varroa mite, a parasite from Siberia that has now
spread everywhere but Australia. Mite infestations steeply reduce bees’ resistance to viral
infection. Worryingly, the mites are developing resistance to the pesticides used to control
them, forcing beekeepers to use methods that are often less effective.

French and German beekeepers blame their losses on insecticides called neonicotinoids—
but France banned them 10 years ago and its bees are still dying. Neumann suspects a wider
problem, citing experiments showing that agricultural chemicals that are safe for bees when
used alone are lethal in combination. “Farmers increasingly combine sprays,” he says. They
also leave few flowering weeds, depriving bees of essential nutrients from different Kinds of
pollen, he adds.

156- Which of the following best describes "this complexity' as it is used in paragraph 1?
1) Honeybee's survival being uncertain
2) Honeybees' being attacked on many fronts
3) The unpromising prospect for saving honeybees
4) The intricate relationship between saving all insects and saving honeybees
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157- What is the function of paragraph 2 in relation to paragraph 1?

158-

1) It qualifies the conclusion made in paragraph 1.

2) It provides specific information lending support to the problem portrayed in
paragraph 1.

3) It questions the possibility of finding a solution to the problem described in
paragraph 1.

4) It brings in facts and figures disproving the claim made in paragraph 1 to the effect
that honeybees are actually being pushed to a lethal tipping point.

The passage provides sufficient information to answer which of the following

questions?

1) Why did Italy lose fewer honeybees than the US and the UK?

2) Why does the author state that each single cause of honeybee die-offs is not
catastrophic on its own?

3) Why is Siberia a good place for the growth of a parasite that is said to be the main
culprit for honeybees' dying off across the world?

4) Why is it that the author claims that the synergistic effect of various causes of
honey bee losses would be clearer in the near future?

The word "them' in paragraph 5 refers to ...covvviiiiiiiniinn
1) mites 2) pesticides
3) infestations 4) bees

160- Why does the author mention ""France'' in the last paragraph of the passage?

1) To emphasize the inefficacy of current anti-parasite strategies
2) To refer to the length of the existence of a persistent problem
3) To introduce a country with a novel solution

4) To refute an earlier assertion

This is the end of Section 5.
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